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16.  Inwhich of the following is an article used correctly ?
a.  T'was tired of the life.
b.. The both anxious parents sat up the half night.

c.  The Kapoors are our neighbours,
Answer Options :

(1) Onlyc

(2) Onlya
(3) Onlybandc

(4) a,bandc

Read the passage carefully and answer the questions no. 17 to 21 given below.

Diet plays a vital role in the maintenance of good health and in the
prevention and cure of disease.

The human body builds up and maintains healthy cells, tissues, glands and
organs only with the help of various nutrients. The body cannot perform any of its
functions, be they metabolic, hormonal, mental, physical or chemical, without
specific nutrients. The food which provides these nutrients is thus one of the most

essential factors in building and maintaining health.

Nutrition, which depends on food, is also of utmost importance in the cure of
disease. The primary cause of disease is a wenkened organism or lowered resistance
in the body, arising from the adoption of a faulty nutritional pattern. There is an
elaborate healing mechanism within the body but it can perform its functions only if

it is abundantly supplied with all the essential nutritional factors.

Human cells need at least 45 chemical components and elements. Each of
these 45 substances, called essential nutrients, must be present in an adequate diet.
The nutrients include oxygen and water. The other 43 essential nutrients are
classified into five groups : carbohydrates, fats, proteins, minerals and vitamins, All
45 of these nutrients are vitally important and they work together, Therefore, the
absence of .any may result in disease, eventually death.

Research has shown that almost all varieties of diseases can be produced by
an undersupply of various nutrients. These nutritional deficiencies occur on account
of various factoré, including the intense processing and refining of foods, the time lag
between the harvesting and consumption of vegetables and fruits, the chemicals
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used in bleaching, flavouring, colouring and preserving foods and the chemical

. fertilizers, fungicides, insecticides and sprays used for treating the soil. Therefore, as

a first principle of nutrition one should insist on whole meal flour and whole meal

bread and avoid the white stuff,

Research has also shown that diseases produced by combinations of
deficiencies can be corrected when all the nutrients are supplied, provided the
damage is not irreparable. A well balanced and correct diet should be made up of

foods which in combination would supply all the essential nutrients.

It has been found that a diet which contains liberal quantities of (i) seeds,
nuts, and grain, (ii) vegetables, and (iii) fruits would provide adequate amounts of all
the essential nutrients. These foods have, therefore, been aptly called basic food
groups and the diet containing these food groups as optimum diet for vigour and
vitality.

17

The passage focuses on :

a.  Nutrition for vigour and vitality.

b. Importance of nutrients in curing diseases.
c. Types of nutrients.

d. Balanced diet.

Answer Options :
(1) Onlyaandb (2) Onlycandd
(3) Onlya, bandd (4)  All of the above

What are the causes of nutritional deficiencies ?

a. Use of preservatives in food

b. Intake of refined food

¢. Nouseof pestiﬁides and chemical fertilizers

d. Use of wholesome foods and fruits

e. Long interval between harvesting and consumption of vegetables and fruits.

‘Choose the correct alternative :
1

Answer Options :
(1) a,b,c,d,e. (2) a,b,d,e
(3) a,b,e AEE (4) a,b,ce
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19.  The phrase “well balanced djpt” reflers to :

a. Intakeofg variety of fopds.
b.

c.

Consumption of whole meal bread and the white stuff.

Proper consumption of vegetables and fruits.
d.  Intake of the foods w

hich supply all the essential nutrients,
Choose

the correct alternative to complete the sentence.
Answer Options :

(1) Onlyaandb

(2) Onlybandd

(3) Onlya

(4) Onlyd

20.  Find out the word in the passage which means

“Not supplied in required quantity”
(1)  Deficiency
(2) Nutrition

(3) Liberal quantity
(4)  Undersupply

21. a. Absence of any of the essential nutrients may lead to death.
b.  Oxygen and water are vital elements in human cells,
c.  Discases caused by nutritional deficiencies are irreparable,
d. Diet is one of the essential factors in building and maintaining good health.
Choose the correct alternative/s.
Answer Options :
(1) Onlya,bandd
(2) Onlya,candd
(3) Onlyb,candd
(4) Onlybandc
e SIS IR / SPACE FOR ROUGH WORK ! PTO.
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22. Iam extremely happy.
Select the correct nlternative to tag question to the above sentence,
) _ amlI? :
(2) _ isn't [ ?
(3) aren't I ?
(4) isn’t it ?
e ——
23.  Before Akshay came to Bollywood, he in hotels for five years.
Select the correct alternative to complete the sentence meaningfully.
(1) was working |
(2) has been working
(3). had worked
(4) had been working
24.  Choose the alternative closest in meaning to the word in capitals.
The negotiations have reached an IMPASSE.
(1) Point at which further development is blocked.
(2) Point at which highest profit is guaranteed.
(3) Point of no profit no loss.
(4) Point at which a meeting concludes.
25.  Identify the part of speech of the word underlined in the following sentence :
Don’t go near the edge.
(1) Adverb (2) Adjective
(3) Preposition (4) Conjunction
26. Which of the following is not a synonym of the word GARRULOUS ?

" a, Loquacious

b. Talkative

c. Gauge

Answer Options : : . |

(1) Onlyaandb (2) Onlybandc
(3) Onlyec (4) All of the above

TeeqT FHTS ST / SPACE FOR ROUGH WORK
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g7.  Choose the correctly spelt wopd/s,
a. PROMENADE '
b. PROMINANCE
c¢. PROMISCUOQUS
Answer Options:
() Onlre (2) Onlyaandec
=) Commpdih (4) Al of the above
28.  Match the following ;
a.  The feeling that you have previously experienced 1. De jure
something
b.  The crime of killing one’s brother or sister II.  Regicide
c.  According to the law [I1I. Fratricide
d.  The crime of killing a king or queen IV. Déjavu
Answer Options:
a b c d
1) I I1 v 111
(2) IV I1I [ 11
(3) III 1\Y I 11
@ v 111 11 I
29, She four awards.
Choose the correct alternative to complete the sentence meaningfully.
(1) carried away : (2) carried off
(3) carried on (4) carried out
30. Identify complex sentence/s.
a. I know that Mohan is a bank manager.
b. What you told me is true.
¢. Ihelped him because he was very weak.
Answer Options:
(1) Onlyc (2) Onlyaande
(3) Onlybandec (4) a,bandc |
Feea] STHTRTA! ST / SPACE FOR ROUGH WORK . P.T.O.
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81, UHN UNUETH el §F W A 0 B A @i 6 ; 1 41 yHoT AR, J- N gEe
TG et 3G, 3 Ade Romiw dE 3V 2 VIR, SR, S Ry I3 A

T B awr=a fisw sredter, @ BB - ,

R
1 1 L 1
(1 = = =
1 (2) 5 (3) 3 (4) =

Two wires A and B are made of same material and having their lengths in the ratio
6 : 1 are connected in series. The P.D. across the wires are 3 V and 2 V respectively.
. + R
Find EEL , where R and Ry, are the radii of the 2 wires.
A
1

' 1
1) = =
(1) n (2) 5 (3)

(4)

S| =t
G|

32, eaftar € A FFATT I Wieicideh! SV AR & 94| FLard ?
(1) 99
(2) =3
3) =
(4) HAYH Fd AT
Sound waves are longitudinal mechanical waves that can travel through which of
the following mediums ?
(1) Gases
(2) Liquids
(3) Solids
(4) In all of above mediums

33. o P i ofat @ 2 Wi 3 1 it o, W = Fmh wfomfi wwh fed o 2
(1) 33X (2) 1-53EX
\ (8) 13@< (4) 0-5 BT

The focal lengths of two lenses are 2 m and 1 m, then the total power of a
combination of these lenses is

1) 3D (2) 16D

3 1D 4) 05D
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34. mﬂrriﬁﬁ:ltmgm

(1) % quarn ey TR /R s aww.

(2) &% Hifem Teemereion

@) () nfr (2) 3
(4) TR Frord

The chemical reagent used t
(1)  only washing soda

(2) only sodium hexameta

phosphat
(3) Both (1) and (2) Phate
(4) None of the above

0 remove permanent hardness of water is/are

% NFafwwwﬁ?W@_ anfor S Gy L)
(1) =ft, TERE 2) =, |
(3) <=, :IW?jFF-T (4) =, wfE
The resultant dipole moment in NF, molecule is and in the direction of
atom/s.
(1) low, nitrogen (2) high, fluorine
(3) high, nitrogen (4) low, fluorine

86. WCiTh! THIVIAT FeTeN =T T I TR 2
(1) n=1,1=0, m=0, s=+

|

(2) n=d4, {=0, m=3, s=-

(3) n=1,£=1' II]:D, G =—

B[ = 3= |- b

(4) n=3,1=2, m=2, s=+

Which of the following set of quantum numbers is not possible ?

+
|

- b= B R

(1) n=1,1[=0, m=0, s=

(2) n=4,1=0 m=3, s=-

B
I
=
i
|

(3) n=1,1=1,

It
3
[4¢]

1

+

4) n=3,1=2m
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37, mﬁﬁmmmﬁmmﬁtmmwﬁamﬁﬁ?
(1) fagEgw
(2) wdga
() 3RS qu
4 @
Over which of the following latitudes is the Geostationary satellite set ?
(1) The Equator
(2) The Tropic of Cancer
(3) The Antarctic Circle
(4) The Poles

88. AT DRI Thow Hai Tasad@E BT st A __ TRV,

(1) &= ornfaa (2) HiisTenm
| (3) 9@ (4) illamm
ll In interpreting the aerial photograph, the pair of adjacent aerial photographs is
| called
‘I (1) Aerial photograph (2) Stereoscope
‘ (3) Texture (4) Stereogram
I

!|1 39. Gﬁaﬁa‘aqﬁvﬁf&maﬁg{m?

l' O b S e s 3 E o o,
(2) ufew wiferha sfmmm EnE =Ee @ e T s,
| (3) wfen wifGabra fwrm Az dm g .

(4) = wifeahr wiammm TR o e aifia 33,

State which of the following statements is true ?

(1) In the raster data model, the basic building block is the individual cell.

(2) In the vector data model, the basic building block is the individual cel].

(3) In the vector data model, well-defined boundaries are represented.

(4)  In the vector data model, locations are well represented.
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40. TTIT HeMia ATy ST “HTML

(Hybrid Text Makin
@ m X g L&nEuEEE)
TR AT (Hyper Text Markup Language)

\ (Hybrid Test M ld
‘What is th e SEaguage)
18 the long form of the term ‘HTML', used in relation to Internet ?
(1) Hyper Tool Markup Language
(2) Hybrid Text Making Language
(3) Hyper Text Marku

! p Language
(4) Hybrid Test Making Languagge

41. Wmmmwm%ﬂmm?
(1) R Famr EER .
(2) RO TRHTF fem
@) R efFrww vz
(4)  FTHE Haw wrrarEed
The emergence of electronic commerce can be defined as
(1) The transaction of business on the Internet
(2)  Electronic education on the Internet

(3) Electrical methodologies for transaction
(4) Communication on the Internet

42.  ASCII I1=1 $& ®id g 3R 9
(1) e e Fed B =HiNTH Jaefat
(2) I =2l HIg W FRTE e
(3) it fauel FIgH F 3wz R
(4) N B Facd B FHEIA
What is the full form of ASCII ?
(1) All Standard Characters for Information Identity
(2) American Standard Code for Information Interchange
(3) All Simple Codes for Infotainment Interests
(4) American Standard Characters for Information Interchange

43.  wEE gl R W 7

(1) whm ' (2) THIm@EN
(3) ITTIR T gHFHED (4) 3f=Asm
What is cyber bullying ?
(1) Spamming (2) Scareware
(3) Threatening through Internet (4) Adware
T FHTATST ST / SPACE FOR ROUGH WORK : PT0.
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4. WMMWIﬁmﬁmmaﬂ%ﬂm :

(1)
(@)
(3)
)

In the Western Himalayas, fruit gardens are developed due to

(1)

(2)

(3)
4)

WP fimTera fRaTesdT TevITT TS W anTieA ATErE) SR Il
fzem femmeram wedamamo graam s wH - v
Yad 1 AT FEanTiHT IR 3Hd

Soil in the Western Himalayan region being good for the growth of fruit

gardens

the Western Himalayan region receiving rainfall in winter, which is favourable
for the growth of fruit gardens
the amount of rainfall being generally low in the Western Himalayas

Mountain climate being favourable for the growth of fruit gardens

45. Wﬁmﬁmwﬂnmmﬁwmﬁaﬁﬁmmﬁqﬁ@ﬂmm
3R ?

(1)
2)
(3)
4)

Y WA it fewrera wel ien avefael e Ay S gl .
@ T WAL

Which of the following atmospheric conditions is responsible for the occurrence of the
Indian climatic phenomena ‘Retreating Monsoon' ?

)
@

(3)
(4)

Expansion of high pressure belt from north-west to south-east direction in
India.

The south-west monsoon winds reach the foothills of the Himalayas, blocked by
the Himalayan ranges, and then retreat from the Himalayas,

Apparent movement of the Sun,

Occurrence of steep pressure gradient in the Indian sub-continent,

ZeegT HIHTAIS! ST / SPACE FOR ROUGH WORK
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B
g adafiofien SfEe TR ot st = st
46. ) ﬂmﬁ-ﬁ?t{éﬁ, 'i{ﬁa ﬁtnaq HTER . . “
5 franfrs wed AR S ;’“'Wm,mmmm
@ mmﬁﬁﬁquﬁ'm Im-ﬂ_@ vmﬁﬂ_mm,mﬁmm
" Wﬁﬂ'q‘hqma' S wdd, T v, ge3 fera, FOHIE T4
4) ‘ . 9, W O, SIena vdh, HRE e, gea e
Amnglf.mltf;rrect order the following mountain ranges from the South to North.
(1) Shivalik range, Greater Himalayas, _ _ o
Ladakh range, Karakoram range Y Zaskar range, Pirpanjal rang
(2) Shivalik range, Pirpanjal range, Great . P
Ladakh range, Karakoram range eater Himalayas, Zaskar rang
(3) Shjvalﬂ; range, Zaskar range, Pirpanjal FT—
Greater Himalayas, Karakoram range rpanjal range, Lada 4
(4) Shivalik range, Pirpanjal range, Zaskar range, Ladakh range
Karakoram range, Greater Himalayas

e

41. wmﬁamhﬁaﬁaaammﬁaqmm

a1, el WA Bl Fees AT 45 i

a4 I WA oIg SISTd Fae 4 A 1R,

ST TER A5 FE SHUA HR FA IR ?

(1) T FgEge W W e e 7 R .

(2) m‘ﬂrﬁ%mﬁwmmaﬁawﬂma&aﬂa@

(3) WﬁﬁmﬁawﬁmﬁanﬁﬂmﬂwﬁammﬁIMmaﬂiﬁﬂ
T A ST & Sl

(4) et S Y wEe e 66° 30 =1 FF el FAAS FEAATET A

The periodical difference between the shortest day and the longest day in India 1S

given below :

a. Insouth near Kanyakumari it is about 45 minutes.

b. In north near Leh in Ladakh it is about 4 hours.

Why does this time difference take place ?

(1) Kanyakumari is situated near the equator and Leh is far away from the
equator.

(2) Location of Kanyakumari is in the tropical hemisphere while Leh is located in
the temperate hemisphere.

(3) The periodical difference between the day time and night time is minimum in
South India while it goes on increasing towards North India.

(4) The axis of the Earth is inclined to the plane of the ecliptic at an angle of"
66° 30’ giving rise to increasing length of day and night from the equator to the
poles.
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48.  WESN 1200 W, Yan wme = sy 400 F0. foren e ST A ST gy,

WAt Brorn e a7 s 2

(4) 3o wfeandtr ond e

Which of the following types of forests is found in areas above

1200 m altitude ang

receiving 400 cm and more amount of rainfall in the Sahyadris ?

(1) Tropical evergreen forest
(2) Tropical semi-evergreen forest
(3)  Sub-tropical evergreen forest

(4) Tropical humid deciduous forest

49.  w@reft 29 faur feft amaa wnlh (31) wfaurea faum 33 (3) @ @R FT IR
(1) "EmIgTE yniEETT TUE TEE SN 21 AEeAR TS 918 A2 g e,

(3) WERYIE HerEay 10 e AR,
Qi I ;

(1) (m)mﬁ(ajﬁ?ﬁmaﬁaﬁ(a)%(a)aﬁmaﬂ%
(2) (1) 3nfor (F) R 2 A R TG (F) B (31) & @ TIHHW AR

(3) (31) B W= AR IV (F) 2 TH A8
(4) () B I 2R 9V (F) B U 3R

Given below are two statements, one labelled as Assertion (A) and the other labelled

as Reason (B).

(A) Groundwater resource has been depleted intensively in Maharashtra.

(B) There is a need for groundwater conservation in Maharashtra.

Answer Options :

(1) Both (A) and (B) are true and (B) is the correet explanation of (A)

(2) Both (A) and (B) are true but (B) is not the correct explanation of (A)

(3) (A)is true but (B) is false
(4) (A)is false but (B) is true

oo HETATSL ST / SPACE FOR ROUGH WORK
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50. Eit= fém ' A15
R
() SR — Wm@iamﬁwmm
RISy TR a1 w9 s
Rl ﬁ'v‘(ﬂrq\q :
(3) : ST i sy -
ﬁ'ﬂmﬂmﬁmmm&m _ P HOMR Hor ey aretioe
4) 7y E?ﬁm My 5 2 @
. ~Ld in t ;
maximupm jp, Mmmmahtm ) € districtg of Smdhudurg and Ratnagiri in Konkan
(1) Low rate of .
(2] .
(2)  Out migrat; male foeticide In these districts of the Konkan
i a IOH ur my ] ; 1 r . .
industrig) region uf-;\fu\:)‘;::ima Population from these districts of Konkan to the
3) Dowryis wiu .
) o Ty ls:;:nen to bride on the oceasion of marriage
1€ number of feng)e children is increqsin i :
medicql] facilities in these districtsmcmmna‘ due to improvement in health and
51| ) ) S| i f—
% R TR, e e amﬁmmmAWﬂrﬁmmmha i
ma@?@aﬂmmmﬁlmmmmmmm
TSR SR 0 iy 7 Ry
A woman says, “If you reverse my own age, the figures represent my father’s age. He
1s of course older to me and the difference botween our ages is three-cleventh of thejr
sum.” The women's age is
(1) 45 years (2) 36 years
(3) 37 years (4) 46 vears
52. g5wmmmmmwmmmm?
(1) 125 (2) 625
(3) 250 - (4) 300
There are 25 people in a group. If all shake hands with one another, how many
handshakes are possible ? o
( 0
. (4) 300
@ 250 P.T.O.
Teeq] FTHTATE! S / SPACE FOR ROUGH WORK
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83.  Wrcha mied srvarn anfer foraeren s IO ¢
: P‘Q.R,S,T_U:mﬁ\rﬁi}rr&nﬂ?ﬁqwﬁm

3 IR, 27 wrEn agE @ e aEn T

fam vam .
R ? VR0 AT Tam Fa ? 5
() &R (2) fan (3)

Study the following information carefully

two passengers in each vehicle. Car,

passengers of both the sexes. There are WO Me

 wam : el a4 P 3N U7
WA A il . QR T I S & TV o . P ® A anfy

and answer the d

relling i different V€ o
P,Q, R, S, T Uand V are travelling in t?’;gﬁshaw, Lorry and each vehicle i

Lawyers among them. R is a lady doctor and '*1;0 (rl]
sisters, P and U. Q, a male merchant, travels with 0

o

(4) Ten 39En s
uestions given below .
hicles. There are at leag,

Lchants, two Doctors and thre,
oes not travel with the pajr o
ly V, a Lawyer in vehicle car, §

ion do not travel in the sap,

is a male doctor. Two persons belonging to same Pﬁjiﬁlﬁ;

vehicle. P is not a merchant and travels in vehicle Ki

In which vehicle does R travel ? ickshaw i

(1) Car : (2) Rickshaw (3) E‘ff’_}'_______{“ g Or__Lorn
B4.  3:37 aTA TSI ST uf A 3@ FHad 2 &y 623

(1) 8:23 (2) 813 ) (g}3_2=13

What will be the mirror image of a clock at 3:57 - )

(1) 8:23 (2) 8:13 (3) 9:13 (4) 9:23 .

G

i- 55. @i g Flam w0
|

(A) (B) (C)
] (1) wd amFe daes fm .
| (2) | HFAM T6S FAA e
' 3) & g ofeld B R,
(4) gl (A)d (B) = qivddl ®ur 3.

Observe the following diagrams :

§

9 G
| 3

(A) (B) (C)
(1) The area of all diagrams are different.
(2) The area of all diagrams are same,

(3) The perimeter of all diagrams are same.,
(4) Diagram (A) and (B) have the same perimeter.,

Zeeq] HATATA S / SPACE FOR ROUGH WORK
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ﬂﬁalmmﬁﬁﬂ,' :
56, mmmmﬁmm,mmgmmammmm g, 49 d
0 28 ey “"lﬂaﬁﬁwnﬂmmmﬂmﬂmmﬁﬂﬁ e 9
T ST, A B e
(1) F_{ﬁ'a_ 9 UG gy . .
@) W a ny (2) e 7 gog greme)

4) gf@ 3w greamel

. .
[I;ﬂk, Mahesh, Prashant nnd Suresh are seated in a row.
¢epak and Anil, Mahesh is scated between Prashant and

eat ,
seated at both ends of the rcd hl:lt“een Deepak and Prashant. Anil and Suresh are
OW, then where is Dee :
pak seated ?

(1) Inthe middle of Sunil and §
(3)

Anil, Sanjay, Sunil, De
Sunil is seated between
Suresh and Sanjay is s

anjay  (2) In the middle of Anil and Sanjay
In the mid :
middle of Sanjay ang Mahesh (4) In the middle of Sunil and Prashant

57. E?ﬁaﬁﬁﬂﬁvmaimﬁm:ﬂrﬁﬁéa?

9 45
b 29
15
17 | 21
(1) 8 (2) 10 3) 14 (4) 16
Which one of the following numbers will occupy the blank space ?
9 15
- 29
1
; 17 21
(1) 8 (2) 10 (3) 14 (4) 16

68.  UEN WHGR 312, I 3 M@ MR T &= anen Fvd arfta 3w 2

(1) 8 2 9 (3) 10 4) 11
The day after is Monday. The date tomorrow is 3. Then what will be the date on next
Sunday ?

(8 @ 9 3 10 @

O] FIHTATS! AN / SPACE FOR ROUGH WORK - - PTO.
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89. fQum: '
wd foreea g AR
HE @ Ry e,
FTE Razwn w4 .
Ry -

1. R geu @ fassn e, e o 1 o

(1) S freed St T (2)
(@) fresd 19 11 a0 3MMed (4) a4 fred ata TR

Statements :

All locks are keys.

All keys are doors.

Some doors are windows.
Some windows are floors.

,Conclusions =,y ., ~ i .|

I. Some keys are windows.

II. Some floors are not doors.

III. Any locks are not windows.

(lj ‘None of the conclusions are correct (2) Only conclusion I is correct

(3) Conclusions I and II are correct (4) All conclusions are correct

60. 30 fiem W Uk W AR S, w0 nfe=ran v fEw o swe ? /

(1) TaEr (2) TWER (3) FAR (4) IERAN
There are five Saturdays in a month of 30 days. What will be the first day of tha

month ?
(1) Sunday (2) Monday (3) Wednesday (4) Frnday

61. @i fedvean ww i e IR MR, e Feiven e < e NE
3,7, 16, 32, 56, 93, 142
1 7 _ (2) 16 r (3) 56 (4) 32
In the following number series a number is wrong. Select that number from th
following options :
3,7, 16, 32, 56, 93, 142
Q 7 (2) 16 (3) 56 (4) 32

FHoeT FTHTAIS! SN / SPACE FOR ROUGH WORK
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62. ‘I'B?'F'___'?ﬁﬂn yu,
XY |12 19 IP
Fl|lo9|g| 5
AC| 2 |11 | Ny
(1) DF,s
| 2) SU, 4 (3) BG,7 (4) GK,2
Insert_t_he missing character,
XY |12 |10 p
I-___"___"__"'—‘—-——-—._
FJ |9 | g ?
AC| ? | 11| NV
(1) D
) DF,8 (2) 8U, 4 3) BG,7 (4) GK,2
63 ‘P_'_PX,Q T PR QN Afion, P4 Qrems P& o o, P el pa Q¥ afea,
- Q T8 PR Q?nm: P=Qmm Pfl Qi =0, P> Qwrd PR QI W,
Wﬂaﬁm@ﬂ%ﬁam'mmm? '
(1) B-N+KxR (2) B>P=R
(3) R+S=T+B (4) B-S+L-R
If ‘P x Q means P is sjstc-r of Q, ‘P + Q' means P is mother of Q, ‘P - Q" means P is
father of Q, ‘P + Q means P is brother of Q, ‘P = @’ means P is daughter of Q, P> Q
means P is husband of Q, then which of the following represents ‘B is the
great-grandfather of R’ ?
(1) B-N+KxR (2) B>P=R
3 R+S=T+B (4) B-S+L-R
84.  TBIFR Tedvelas gH 1 3 wemion favg B el 264 frd v A A @ v
wHdt ?
Two metro trains are running for one and a half hours in opposite directions at a
same speed of 264 kmph on a circular railwa:,r-track. If the distance of the track from
the center-point is 23 km, then how many times will those metro traips pass each
“other ?
1 4 (2) 5 (3) 6 @ 7.
Foeq] SISl T  SPACE FOR ROUGH WORK - P.T.O.
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B
feaum 20 - arauarETd! Tt
T -a'a W B U."W-'T .t T.‘t ot f‘:‘qvq
65. UHRIATE W15 iy T '
ﬁammfmmﬂﬁm?ﬂawﬁrmmﬁmﬁ“ﬁm
AT ? .
14 (4) 1033
(1) 12 (2) 131 (3)
9 .
can build 1 ;
. . days but B alone ) ny days will the hoys,
. c‘;{“ bu;:}d : h:UlSiEu:;O;T;L;EkS oyn the first day, 11t how many
work on alternate days.
be built ? )
4) 10=
1 12 @ 13% (3) 14 3
2 f
66.  srmans A e axg Al
XZB, DGJ, SWA, MRX, AGM A
(1) DGJ (2) SWA (3) AGM
Find the odd-man-out in the letter gToupP series.
VA, MRX, AGM
B AGM (4) MRX
(1) DGJ (2) SWA (3)
67 ﬁawmmmﬂmﬁ-smﬁmvﬁmmﬁaa
7
9 5
(1) 67 (2) 65 (3) 86 (4) 37
Select the correct option in place of the question mark; in the given number
structure.

=

(1) 67 (2) 65 (3) 86 (4) 37
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68. 'ﬁmmwﬁ\‘hwﬁanrhm ® sk g A
TR R RLLLE T R e ap—
H’;;ﬁﬂ el faumig B Fas fary :tﬁ[;mam'swriﬁ ?

3T W Wl e I,

9 R Wofay i, MR,

B I W Wi g IR,

. AR R g vy R,

Tadt Ty

(1) 39 3 anfy = (2) w9 3t %
(J) w@m y

1) FW &
Gauray i« older than S

aurav but younger than Saurabh. Saurav is as old as Armav
but older than Pranay.
Then whicly of the s

tatement/s given below is/are correct ?
Statements -

& Arnayis younger than Sauray,

r than Saurabh.

rthan Pranav,

b.  Amav is olde
c. Arnav is olde

d.  Arnav is older than Gauray.
Answer Options :
(1) Onlyaandd

(2) Onlybande
(3) Onlya

(1) Onlye

69. Wﬂﬁﬁﬂ?ﬂﬁﬁl“ﬁmﬂﬂﬂﬁﬁmﬁﬂmmﬂ?mmwﬂm
mmammmrm‘rurk.mgﬁmﬂmmaqamcﬁm_
WA sfdeen ghn amee . mﬁmaaﬁm.m’%mfmmwﬂmm
Wﬁm#ﬁ.mﬁmgmmﬁmﬂmmrm?

(1) #Hwm (2) anfa

(3) € (4) {m

Six persons are sitting around a circular table. Anand is facing Heena, who is sitting
to the left of Arvind and to the right of Sanjay. Suman is to the right of Arvind.
Manoj is facing Arvind. If Heena and Manoj, Arvind and Sanjay

mutually exchange
their positions, who is now sitting next to the left of Manoj ?

(1) Sanjay | v
B : (4)  Suman
O] FTRIRTS! AN | SPACE FOR ROUGH WORK P.T.O.
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70.

: i D
O # o A ¢
FAIR WELL = 7 oA O & HAa
LW ODOAQOOHH mggﬂeo#aa
B) OO A8 & A H H r a whole sequence of

ed
If the codes given for alphabets are ".rEPE‘:'tards‘
alphabets then select the codes for the given ¥

(4)
serially fo

A B C D %
o # O & ¢
FAIR WELL =? o2 OoOAOGHAA

LW OoOOAQO @ HH

9 0 AA
o O0OA6 6 AHH ooA

(1)

71.

gt I -
(1) UPU 4054 (2) WBB 3544 (3) DLM 3214. (4) ' MPY 83.1}1]. l
While investigating about a stolen car, the police received information from differen

persons as follows : N
The car number has four digits. S
The sum of digits of the car number is divisible by 4.

The unit place digit of the car number is 4.

a.
b.
.

Answer Options:
(1) UPU 4054 (2) WBB 3544 (3) DLM 3214 (4) MPY 8324

72.

w1 ke TadETE) ST mﬁuﬁmm:ﬁaﬁammm@mmm

AT T AR, T TR A R gt ?
18 teams have registered their names for the cricket competition. Every team has
play a match with another team. How many total matches will there be ?

(1) 179 (2) 163 (3) 173 4) 183

oea] FTETATE! o / SPACE FOR ROUGH WORK
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26
B
27 A15
TR e srareyy “’“"memgw T ANTA Judiore g el AU
ABCDEFG e P,
(1) E
Select by using th o 0 @ 4
using t o4
of the lotto. t}?at c!:::limnng gx:uup of letters, the letter that comes third to the right
right of the lettar lmr‘:iél.n;nidmtely to the left of the letter, that comes third to the
lately to th
ABCDEFGH e left of the letter B.
74, WA Masen sim 0 -
43,95, 167,72, 373, 507
(1) 261 @) 259
(3) 360 i ;7
| ‘ 5
Find the missing number in the series :
43, 95, 167, ?, 373, 507
(1) 261 (2) 259
(3) 360 (4) 257
76. Wreh e $reh avtrreren sien wggren dofae swfaren (2) STt wrran wqR A ?
BZA, DYC, FXE, ?2, JVI
(1) WHG
(2) HUG
(3) HWG
(4) UHG
In the following English alphabet’s letter groups series, which group will come in the
place of the question mark (?)
BZA, DYC, FXE, ?, JVI
(1) WHG
(2) HUG
(3) HWG
(4) UHG
T TS ST / SPACE FOR ROUGH WORK " P.T.O.
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L L p——— R L L U R A '
Fr ' a¥
A T yfew 3 wgww e I 1974
q. Il w II. 1980
F. o SioEy 3 wgew P III. 1981 -
3. FHEa IV. 1972
qafdt IW
A T ® 2
(1) IV II 111 I
(2) II I v I
(3) II v I II
(4) I I11 II v
Match the correct pairs of Act and its Year for the environmental protection,
Act Year
a. Air (Prevention and Control of Pollution) I. 1974
b.  Wild Life Protection II. 1980
c. Water (Prevention and Control of Pollution) III. 1981
d. Forest Conservation V. 1972
Answer options : '
a b c d
1) IV II Imr 1
(2) II I v 111
(3) III v I Il
(4) 1 111 II \Y
77.  Fg21 9ftag € it wEdla s,

(1) SO, =41 IeqreATat Hafal arers)

(2) oM &A= & AiEfavarETd) qath gergtat fawm w5
(3) &ERATR 943 Ieae HHl HO

(4) T ST FH F

Kyoto Conference is concerned with :

(1) limiting preduction of SO,

(2) developing alternatives to ozone depleting substances

(8) reducing emission of greenhouse gases

(4) reduction in use of energy 1__"_,/

FEEqT FTATATA! AN / SPACE FOR ROUGH WORK
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B 29 At>
8. LRICIUIG 3'“"]3 Yt :
1) co, T mﬁ“;)”é”ga ™
(3) ﬁaﬂﬂw (Fluorocarbons) (4) NO,
G i |
(lgeg:gxguse effect is enhanceq i the environment by the ____ gas.
2 (2) CO
(3)  Fluorocarhong (4) NO
4
2
79. WA e ey - | B
A T e I @ a wEE
:-. gmmﬁmm A
: aﬁﬂmﬂ HTETeH 1. vwfaga B 5z
: A T A IV, 941 991 ueq
qatdt I -
A T G I
(1) II II1 IV [
(2) 1 Y 111 I1
(3) 1v I II III
(4) II1 II I v
Match the following pairs :
a. Ch_ipko Movement L Fertilizer Industry

b.  Kerala Shastra Sahitya Parishad 11, Deforestation

¢.  Soil Conservation Movement III. Hydro Electricity Generating Project
d.  Bombay Protecting Committee IV. Tawa River Project
Answer options :
a b c d
(1) II II v I
(2) 1 v Ir 11
3) IV [ I1 III

(4) III IT I v

80, 3iIEH U= &y HiFgT$e e B,
(1) e ' : (2) wiER™
(3) wRZISH (4) i T
Depletion of ozone layer is due tooxideof
(1) Carbon (2) Phosphorus
(3) Nitrogen (4) None of the above
T HMTAIS AT / SPACE FOR ROUGH WORK ' P.T.O.
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81. W TR 21 Gt wEfa IR,
(1) W
(2) TR
(3) zifrs iR (ASEHT HEERIY)
(4) ifos e
. Abel Prize is related to the field of

(1) Electronics

(2) Mathematics

(3) Mechanical Engineering
(4) Physics

82,  wdie waa Ha gaen i 491 g, T 3E Fied, WM
T 3R
A, AHFW TWEH
9. T9gd @it
%, o
3. Td TAgEEE
qaidt I :
(1) Sad A (2) ®HH
(3) HFdd ' (4) HId S
The world’s second largest sitting statue, the Stdtue of Equality has been erected?
his memory.
‘a. Balmakrishnn Paramhansa

b. Ramdas Swami

c. Aryabhatta

d. Saint Ramanujacharya

Answer Options : |

(1) Onlya (2) Onlyc
(@ Onlyb - (4) Onlyd

FHET] FETHIS! ST / SPACE FOR ROUGH WORK

http://www.adda247.com/mr | Adda247'FR'IB°prp | https://tme/Adda247Marathi =
Scanned by CamScanner


https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

30
R R R S ="

]

8 3 A15

83, A @ B offfwEz : Rt i @ e gere s a2
(D R <ty s '
@) . T s
(3) wwht gw
4) 9. g
Who is the author of the book*By Many a Happy Accident: Recollections of a Life” ?
(1) Priyanka Chopra Jonas
(2) M. Hamid Ansari
(3) Shashi Tharoor

——— (4) Y. Mrunal
Ry

84. @l RAuE Rsmm o -
. "Er faurei it 2021 ney wifes v e
. AR TEFEE wreien fid) awz o,
F. TR g geen w10 auten St wo o,
3. fqurmiE s 2 R e
AEH P Fanr iR sk 2
(1) %ad 3, 3 anfa = (2) Fad ¥ o =
(3) W F i 3 (4) e 3 i 3

d in Consider the following statements : ‘
a.  Maharashtra Legislative Assembly passed ‘Shakti' bill in December 2021,
b.  There is a provision of death penalty to rapist.
c.  There is a provision of 10 years imprisonment to acid attacker on women,
d.  This bill was submitted in the Assembly by the Finance Minister.
Which of the following statements are correct ? ‘
(1) Onlya,bandc (2) Onlyaandb
(3) Onlycandd (4) Onlyaandd
— FTeqT FTHATS AT / SPACE FOR ROUGH WORK P.T.O.
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86. =gy T -
A |@EEn| o
9. Hififies 1
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3) I IIT II v
4) I v II I
Match the pairs :
a. Sinopharm I.  America
b.  Covishield II. Russia
¢.  Sputnik III. China
d. Moderna IV. India
Answer Options :
a b c d
(1) II v I 111
(2) III IV II I
(3) I I11 II Y
4) I v IT 111
86. 3.4. 2021 9= Widd A=A Wftdifres Hom frew 2

(1) 3fege wrd a sy sinfiz
(2) =mftan @ g foitd gem
(3) IHEFAEHH TER

(4) wmen &1

Who received the Nobel Peace Prize in 2021 ?

(1) David Card and Joshua Angrist

(2) Maria Ressa and Dmitry Muratov
(3) Abdulrazak Gurnah

(4) Kamala Harris
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Consider the following statements about ‘Dadasaheb Phalke’ Award :

a.  Sponsored by the Directorate of Film Festivals.
b. It is given for outstanding contribution
¢.  Prize amount is 1 lakh.

d.  Award for the year 2021 has been given to Rajinikanth.
Which of the above statements are correct ?

to the development of Indian Cinema.

Answer Options:
(1) Onlya,bandec
(2) Onlyb,candd
(3) l0nly a, bandd
(4) Onlya,candd
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Tt A sy _ 9020 (NEP - 2020 T
(1) IR 2020 ey g AT AT

(2) ﬁmﬁammmﬁmmummﬁ“ﬁam'
(3) ff wrdtd _ 1986 < wm AL

(4) m‘lit10+2ﬁ.ad’l?+d+3+15ﬂm37aa- '
about New Education

Eﬂammaﬁﬂﬂ'ﬂﬂ“?ﬂ??

Policy — 2020 (NEP - 259,

Consider the following statements o
Which of the statements is r1of correc

(1) Approved in July 2020.

(2) Its aim is to make India a global -
(3) It will replace Policy on Education 1986 (

i attern.
(4) Instead of 10 + 2 therc will be 7+4+3+1p .
e ——

knowledge superpower
1986).

90.

T A8 ?
é%ﬁzozomﬁﬁméaﬁﬁammﬁﬁaﬁﬁaﬂiﬁﬁ“ﬁﬁ“”

4. unaﬁmtraa:raa.mawmma#@f.

. WA o gaviegs s efl

waidt I :

(1) %4d A

(2) A

(3) ®H S

(4) aledh R A

Which of the following statements is correct about the medal tally at the Tokyo 2020
Olympics ?

a.  Host country Japan secured first position.

b. India secured 48'h position with total seven medals.
c. India secured three Gold Medals.

Answer Options:

(1) Onlya

(2) Onlyb

(3) Onlyc
(4) None of the above
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9l. i
A nﬂmmwﬁwmwwﬂmwm?
. UHd Aifemm
? Wmiﬁmgﬁmww
3 RN _
Tt I Wﬁﬁm“ﬁ‘mwmmﬁxwmmw@
(1] -‘H."‘l,iﬁ,g'g
3) A, %, 3 (2) #,49, %, 3

4) 3,7, 3
Which of the followin

8 features of i ituti i is with the
Federal principle ? the Indian Constitution are inconsistent

a.  One Constitution for the States

b.  Single citizenship

c.  More legislative power to the Centre

d.  Appointment of Governor by the Centre

e.  States field of legislation cannot be invaded by the Centre
Answer Options :

(1) a,b,cd, e (2) a,b,cd
3) a,cd (4) b,c,e

92, Wi favm fa=nmm o -
N, ENE FaeA’ 2 undm gfauEs Afires an.
4, ft "faurrd 44 =0 wfaum geed) SR smE Foaa e,

QUi I
(1) Had 37 FUR IR (2) 3 =TAT AR, T I AR
(3) 31 o 3 241 at=T aa (4) @ anfor 7 2=l % A

Consider the following statements :
‘Fundamental Duties’ is a salient feature of the Indian Constitution.

a.

b. These were added by the 44" Constitutional Amendment Act in the
Constitution.

Answer Options:

(1) Only a is correct (2) aiscorrect, bis wrong

(3) Both a and b are correct
T HIHTATS ST / SPACE FOR ROUGH WORK =70

(4) Both o andb are wrong
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(1) o™ 324
(2) e 280
(3) oM 224

(4) <om 380

. » '?
. .nance Commission
Which Article of the Constitution provides for the Fin

(1)  Article 324
(2) Article 280
(3) Article 224
(4) Article 380

__.——————_’_;_—_’_'_—_—_.—___‘-—h

’ 94.

rereroum—————TULLL

. mmﬁ:::ﬁ?;;ﬂmwﬁaw e F, & A1 AR g
A. WRar=

. leSWWW&TWW a

= Gl Wwwlﬂﬂ@m #

it 39t

(1) %dd A

(2) ®Ad ™

(3) FHAFASD

(4) aﬁaa&%ﬁﬂmﬁﬁﬁ

. : 9
What among the following is not true about the Public Accounts Committee ?
a. The Committee was set up in 1921.

b. Its main function is to examine the annual reports of Comptroller and Audite
. General of India (CAG).

c. It consists of 15 Lok Sabha members and 7 Rajya Sabha members.
d. " The term of the office of the Public Accounts Committee is one year.
Answer Options:

(1) Onlya

(2) Onlyb

(3) Onlycandd

(4) All are true
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(2) Wad A, 9 nfur &
(4) e 3 Infor 4

Which i
of the following statements are correct about Lok Sabha sessions ?
a. Lok Sabha shall meet

at least twice in a vear.
b. Interv y

Th B 'l')etwcm Lwo consecutive sessions shall be less than six months.
¢ e President summons the Lok Sabha to meet.

d.  Speaker of Lok Sabhg will decide time and place of Lok Sabha session.
Answer Options :

(1) a,b,candd

(2) Onlya,bandc
(3) Onlya,candd

(4) Onlyaandb

96. WA faur faumma o anfon Ay watg gz
4. TES TG FedEl M WH o ) s fadiiser mem e dframgesd

At e q@ud fefm oz,
%, wfaumgeed uhEn smm 365 wel foeh am.
gt I
(1) wad 31 3 =+ (2) & A A =
(3) e g M F (4) afta =

Consider the following statements and choose the correct option.
a. A Constitutional Amendment Bill can be introduced in the Parliament only.

b. The President must give assent to the Constitutional Amendment Bill after it
is duly passed by the Parliament and ratified by State Legislatures, where
necessary.

c.  Constitutional Amendment process is laid down in Article 365.

Answer Options :
(1) Onlyaandc (2) Onlyaandb
(3) Onlybandc _ (4) All of the above
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The Chairman of National Human Rights Commission is appointed by the Presiqey
on the recommendation of a Committee of certain persons. Who among the following
is/are not member of that Committee ?
a. The Prime Minister
b. The Home Minister
c.  The Leader of the Opposition Party in the Lok Sabha
d. The Chairman of Rajya Sabha
Answer Options:
(1) Onlya (2) Onlybandd
| (3) Onlyc (4) Onlyd
98. wad TeaEn R sifieRn el v 3 ?
(1) Tegadr=n HEIEm
() fEe st Fars B
@) Iwugudren Fragummie T
@) Fre fats awet soaEae s
Which of the following is an exclusive power of Rajya Sabha ?
(1) Impeachment of President
\I | (2) Setting up of All India Services
(3) Electoral power for Vice President’s Election
(4) Power related to introduce the Finance bill
ZEEqT FHTAIS! AT / SPACE FOR ROUGH WORK —
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(4) 814 Hfaurrmeh BT, 2000

“To provide Opportunities for
or ward between the

Act was this Fund

education by Mother-Father or Guardian to their child
age of 6 and 14 years."” By which Constitutional :\mendment

g5th amental Duty added in the Constitution ?
(1) 85" Constitutional Amendment Act, 2002

(2) 8gnd Conslitutional Amendment Act, 2000
(3 86" Constitutional Amendment Act, 2002
(4) 815 Constitutional Amendment Act, 2000

4. FcEd Y HEA it
&, H.EF. g gfd
3. %, HyFH HiEh
qnfn‘ta?ﬁ:

(1) 4,3, 3

(2) 9,31, 8. %

(3) 4,3, %, 2

(4) 49,38, 3,%F

Arrange the following Committees according to their establishment year in
ascending order :

a. Ashok Mchta Commitlee {
b. Balwant Raii Mehta Committee ' L e
¢. G.V.K. Rao Committee Lo . vy

d. K. Santhanam Committee
Answer Options :

(1) b,ed,a

(2) b,a,d,c

(3) b,a,cd

(4) b,d,a,c
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